SuMPO

..E PD

JAPAN

VERIFIED
SUMPOERIEINIL SO A (SUMPO EPD)

FUKUVI 2

v Third party verified
Environmental Product Declaration

In conformance with

1SO14025 | 15014040 ’ 1SO14044

e LI E®RA S

Fukuvi Chemical Industry Company,Limited

J1)I\ik=F (40~90mm)

Phenovaboard

ERES RIS H NE|S| MREEEEhEARD EPDA1 T
SuMPO-EPD-2605-140-1 2026/5/25 2026/6/19 2031/5/24 JIv-TEGREPD
KEHFHINESASHRARE
SEBINOMERIRIE EPDIAR AR THoTE, BEHEEEABNRIEEBBIEABYET,
EPDORFRE LU B EZRER T B(CIEU T ERESEL TS,
1S021930:2017

https://ecoleaf-label.jp/epd/search



SuMPO

I APAN

VERIFIED

Environmental Product Declaration for Phenovaboard

R EFS) SUMPO-EPD-2605-140-1 . E p D

@ E KB
>T0J5L1ESR
TOJ3 L& TR SUMPORRIESNIL OIS A
TOUSLARL-5-  —HEFEAY AT IR S RS
FrTE#h EREBTAREXAMET-14-8 KANDA SQUARE GATE 4F
JIJYA https://ecoleaf-label.jp

> GPI+PCRIFER

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& TR LR
PCRERES SuMPO-PCR-01001-1-0-0
PCREZE H 2025/9/30
LEI-/RNEER (FTE) /3N (RIZLESKF)
PCRE RN HABR 2030/9/29
PCREITHE —MRALEIEAY AT FIIR E HE RS
> IREETEHR
1ISO14025% 1M1S021930:2017 [CHE o158 = H &L
- " O A8 AR
BRAEDIE g RHERRSS -, RAEEEIEE EPDYAT [s385
E=FIRAE = HRiE [C&BE=ERIE

REEEMEE (FTE)  FERRE BEFREFEBEAERIVVIIIVIATLEYS-)

> ZEYLIRAE
B 1SO14040:2006 B 1SO14044:2006 B 1SO14067:2018
BEUIRIE B 1SO14025:2006 L1 1SO21930:2007 W 1S021930:2017
1 EN15804+A2 [J EN50693:2019 [J ISO/IEC63366:2025

EPDICEEHOIEHR X VEPDICRR B OB RICE I ZRETRICOVTOEEIIEPDEGEEENFELT, EPDOARICET IR R, BRFEOV
T3, EPDERIGEEEZTERLEDELEN,

EPDOLLE(E, BB RDEEEE T (CER LU LTEESNBINERSBVD, BERERICEIZEMOI1 IV 2heE R, BRERICE
WCREORABERELLEYTUAEZBAL VR HENHYET, EPDOLLEDOBRICE BRINELAFEAREENMEATEPCRESRL TS,
EPDOHERATREME (R, HREE M EEAL WS EDICRESNEY,

BRI ETMER IS TN LEIETT , BEORSILIVRBEADZEE— TR/ IIONIEOTEHYE A, T, EELLRERRE
NDEGHBEEOARSSP LN RMEZEBLTNANE) ( UAZFHE REPABICENEIOHZEEREINE) 2EETRIEOTEHYEE

Ao
MMEFEHWEZEEDSGE. 717917V BB R KR U1 TV TIA IR NI D HEEER. REVREERH. £ NJ0-[CHTRREIE

]IS %E@%unk’)b\‘cwl HKTEHYEEA,

@EPDENISEEEEIR
BEEL -HBEA TP ETERAST BEMEBEART EMBRRI
Ezi RREBRIIXKFH1TH23-3
BNy kel 0800-919-2911 (BE#MHXRLYY-)
LCAREERE (FrE) J7CtZIEKIAEHE BEMBRIE HADIR

EENS  BREEMORE R, (EERNEM - AEEMM ., EEEERRYATL
EEEHE BRE, BEREEEMORE IR, B TR RELE - BR5e. KEIBHIEREDEREMETE
AN


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

R EFS) SUMPO-EPD-2605-140-1 E p D
Environmental Product Declaration for Phenovaboard .‘
VERIFIED

Q& R1FHR
B RATR 71/ )NR=F (40~90mm)
B ROB JJAON - JJ45N+JJ50N+JJ60N - JJ63N - JJBON - JJOON
S mEE  EREYORE
ISEE  0.69g BERE 0.69kg/m/(m-K/W)

Repfttc HROME BEYOE, XH. KBLEICHETIY MM
JIS A 9521 BERMTIM IT/ -V IA-LETEM 118 2 5 DI (JISA 9511 J1/-)LT#—

PATE NN
BUNIERE ) oicik 178 2 = D)
FH 224
ey EREME RSBSOS FEAE
o REEEOMAEREFZLL. AR ORIBEEETEOTIEL, H : EHRA"
FHERE LRI

FRRAE RN E E DM A F R <2022 >
St b (SRS JI7CRALKA S (BLRRE L)
HICEFEMICERELIL/ -IVBE R aSERIBIL/ VIOV ARE R L. ke

IJ O E . R _
S DEE AN TTAF ) Wb
SGEITTHA https://www.fukuvi.co.jp/product/3/01/1078

QMK RUMEICEIIBRESR

B TERESR & (%) BE
J1/)-)VistRE 64.0 0.440 kg
I 26.0 0.180 kg
EM 10.0 0.070 kg
AERMERER A (%) BE
PEOIN 92.0 0.001 kg
& 8.00 0.000 kg
OLEYHRRREHE
IHH BB E (kg-C) EEE (kg-CO: eq)

HmdLUDEYHRRRREEE - -
RHTICDIZTEEMOEYHRRRREFE - -


https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078

SuMPO

F#&ES) SUMPO-EPD-2605-140-1

Environmental Product Declaration for Phenovaboard

OLCA FOEEIR
>EPDY 1 T1E3R
BGI1T
EPDYAS  YAMIAT
FATRA L
Hh 38 A 5
BRELG /BT
=& TEPDICHITS
REMDERA
BHEG/EHI1 M EED
EPDICHITE. EEFERD
L FiBCREd 25%RA

EHE mEPDOR A

> LCABE B IR
EEHA
EEEMULYOERE
(EEBADIREFH)
H#EIO- (MEEEMERETRD
[CHELRZH)
YATLER
LCAY T RI1T
LCIT=9 =X
BIHCETIV
Z0HONYII59Y RT -5
ZRT-IRE
—RT-FUNEH =
—RT-HUNEHAR

EP

JAPAN

VERIFIED

O BH—-%m B J-TE& 0 =F&m

B BEY O &®EHEYA

O $EE B NEFHE O kfE O _ERRME
70-)1b

BEROFREESICLIMEFHEEZAVTEELTNS,

EHDRBBZTIOHEMENRELTVSY, FHROMEERRBRETHY, EERBRE+
10%ARICIRF B & MR LT,

JJAONJJ45N - JJ50N - JJ60N +JJ63N - JJ8ON - JJOONIZZNZFNEHH40mm. 45mm.
50mm. 60mm. 63mm., 80mm, 90mm¢& £43, ZNICHELN, BEHEDB2.1m -K/W, 2.3
m - K/W. 2.6m -K/W. 3.1m - K/W, 3.3m -K/W. 4.2 -K/W. 4.7m -K/WEH B,

TMBLVFEE23°CICHFEEESTE 1 m - K/WHT=Y
0.69kg/m/(m +K/W)

B Cradle-to Gate [J Cradle-to-Grave
MiLCA ver.1.1.3.1

AIST-IDEAv3 .4

SURZE © IPCCEOREFMIRE E(PCC,20214) . ZOMOF LM, : LIME2
GPICHENDZRT - mBEHELET-92AWVTEEZTo

J7 Rtk (LR ELT)

202448 1H~2025%3831H

[J Cradle-to-Gate with options

EYBExRFORYELN O 0/0770-F m -1/+1770-F
EREE W EOHEOTHNREHIVIR 0 zof
BEHEWI BE -
BT3E®R AR -
BFT -
> B EN RERPE
= 1] M= EJLREE JULEE 1§Fﬁ EQB% vel JLEE t%
BB & R B HE T ER GerimnE S Aok BRARER B i
A1l A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
B I ) I o £ 3 :
M B 5 it * " é T b B4
BoA ® A o 5 B B & L T momon ¢
) " & O I B ® & #H B | o )N/ )] &
ECIE £ & S = W B A {;
" ® ®E - - - - - - = = - - - - - -
B EENR - EEHRA



R EFS) SUMPO-EPD-2605-140-1 SuMPO

Environmental Product Declaration for Phenovaboard '. E I D

JAPAN

VERIFIED
>70r-v3y
AEETHE. GPIUCERHOFIETCTOLAOM AL B LU T7O-r—YavEiRET U, SET0AICEVTERI Tig calEs
N3bOERERAERRELTHHENS, TOCAOM A LICLZTOT-VayRIBFIRETHEH, IRF-2ET-F

ERISAVELBRITHG CEEINIHROEERICLIYIBE CERL A EITof, T, BLEBIETHRETIMMMATSY
TO—EBEVYA 7B ELTIRDNS 2, BV AT LARNTIEIMBE TR LU,

>NybAD

PCRTEHINNY M TR RUMNMI AYMATLEEETOTRBEL,
LE, [HERHLYVOEYHRRRREEE]IOVTR, [[REE - EYHRIDEDNJUEES) - BFFD5%FKBETHD
EHNYRATZEITOTVS,

>YATLER

PCRICEDZRTEEITol, BNV ATLAERL100ETHB, 2. PCRTERHINLVATLAERATOCRAIIOVWTEE
ExF RN,

>IFUA
TI1-) £t BA

A2 WX FERISPCROYFUAZERLS,

A3 WX FERISPCROYFYUAZER LT,

>BHETIVY

WHRETZETDIMIHAIINERBEICEWNT, 2021 EEICB 3B AFEHORKEEHDT-IE2ANVTEEE{TO,



F#&ES) SUMPO-EPD-2605-140-1

Environmental Product Declaration for Phenovaboard

>3179147)V70-K
Al FATHIRE

J1./-ILKE RS

BE{LAI

Al

il

[

A

fRets

A2 Bt EHEE A3 £
> Bk
> X B
2
- ) .
v s i E - >,
: Al > 1 T
B 2 a y
> BEinX * M . AN
i 7
Ak
> BK
L THES
oI THES >
— FEE) YA )| 4
A 4
FEEpEX BefpLIR

VERIFIED



SuUuMPO

JAPAN

VERIFIED

Z§3%%ES) SUMPO-EPD-2605-140-1 . E p D

Environmental Product Declaration for Phenovaboard

OETEHR
>54TY 1V B L ERE R
JULEE
B B 5 T ER Bt him (EAREE P N R
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
SUEZEH) - &5 kg-CO.eq| 2.18E+00 @ 5.69E-02 | 4.58E-01 2.69E+00 - - - - - - - - - - - - - -
SURZE) - L BEHRE kg-CO.eq| 2.26E+00 @ 5.68E-02 | 4.58E-01 2.78E+00 - - - - - - - - - - - - - -
SURZE) - =Yk kg-CO2eq| -9.11E-02 | 1.09E-05 | 1.10E-05  -9.11E-02 - - - - - - - - - - - - - -
SURZEH) - LA A RUTEE kg-COzeq| 5.59E-03 @ 5.89E-05 | 2.91E-04 5.94E-03 - - - - - - - - - - - - - -
AV B E kg-CFC-11eq 1.78E-07 | 2.52E-12 = 2.96E-07 @ 4.74E-07 - - - - - - - - - - - - - -
EREl kg-PO.*-eq 2.04E-03 | 2.69E-10 2.78E-08 | 2.04E-03 - - - - - - - - - - - - - -
[ gexld kg-SO.eq ' 2.45E-03 | 8.10E-05 | 3.07E-04 @ 2.84E-03 - - - - - - - - - - - - - -
HALEAF ISV MR kg-CoHseq 9.27E-05 | 5.42E-07 = 3.76E-06 | 9.70E-05 - - - - - - - - - - - - - -
SEMA TS IVDIA THA N B ETTHE
EEME RS - 1Y) kg-Sbeq | 7.12E-06 | 2.36E-10 | 1.09E-06 | 8.21E-06 - - - - - - - - - - - - - -
SURZE) - 2otk kg-CO.eq| 0.00E+00 ' 0.00E+00 | 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
>FLTYMIWAIRY M) IREEEBR —— R EROERICET 3151
JUL kb
G B 5 T ER Bk e (R o N R
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
BAEMRE—RER - IRF- (RPRp) MJ 1.35E+00  3.28E-04 2.09E+00 3.44E+00 - - - - - - - - - - - - - -
BEAEE—RER - IRXNF-88ME (RPRy) MJ 3.54E-01 | 5.35E-07 @ 4.37E-05 @ 3.55E-01 - - - - - - - - - - - - - -
FEBELEEE—RER - IX®)IF¥— (NRPR) MJ 2.17E+01 | 6.23E-01 8.87E+00 | 3.12E+01 - - - - - - - - - - - - - -
FBEAR—RER - IXNF-5FME (NRPRy,) MJ 2.65E+01 | 2.09E-06 @2.70E-03 | 2.65E+01 - - - - - - - - - - - - - -
>FATYMINWAIRY M) IREEBHR — R EROERICEAT 31512
JUREE
LR R 16 T ER Bt e [RREE P N 5540
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 C3 C4 D
ZRME kg 7.70E-02 @ 2.32E-07 @ 2.71E-04 @ 7.73E-02 - - - - - - - - - - - - - -
BAERTREZRIRE MJ 4.90E-02 | 1.52E-07 | 5.79E-05 @ 4.91E-02 - - - - - - - - - - - - - -
FEB AR BE R IAR) MJ 6.20E-02 ' 9.39E-07 | 3.33E-04 @ 6.24E-02 - - - - - - - - - - - - - -
BN T RILF- MJ 6.76E-03 ' 1.58E-06 | 1.09E-02 @ 1.77E-02 - - - - - - - - - - - - - -
>FATYMIWAIRY M) IRBEEER —FEEPERE- LB AR RKODHEE
JUREE
BB BB 6 T R e Lt — AR ER T 15541
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 Cc4 D
FEEYME R B-1LR MJ 5.73E+01 | 7.70E-01  6.44E+00  6.45E+01 - - - - - - - - - - - - - -
WIKDEE m 845E-02 @ 1.61E-06 | 2.49E-04 8.48E-02 - - - - - - - - - - - - - -



SuMPO

B$%EES) SUMPO-EPD-2605-140-1 E p D
Environmental Product Declaration for Phenovaboard .

JAPAN

VERIFIED

> REVMBEERR
g . i FRERR e
B B R s T B v o R ARERIE BRI
A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 Cc3 Cc4 D
BEREY kg 0.00E+00 A 0.00E+00 | 0.00E+00 ' 0.00E+00 - - - - - - - - - - - - - -
BERZEY kg 1.95E-02 | 5.11E-05 | 1.59E-03 | 2.11E-02 - - - - - - - - - - - - - -
=NV RREY) m 8.01E-12 | 2.07E-15 = 1.28E-11 | 2.08E-11 - - - - - - - - - - - - - -
FESIMELNIV RS HEBEEY) m 3.35E-09 | 8.68E-13 ' 5.34E-09 | 8.70E-09 - - - - - - - - - - - - - -
> HAI0- LAY BREIRHR
et A i FRERR o
1 B R o T BB S - HRERERRE BRI
A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 c3 c4 D
B AR e ER G kg 0.00E+00 | 0.00E+00 ' 0.00E+00  0.00E+00 - - - - - - - - - - - - - -
VY10 )VE kg 0.00E+00 | 0.00E+00 @ 1.61E-03 | 1.61E-03 - - - - - - - - - - - - - -
IRIF-EYEA R kg 0.00E+00 | 0.00E+00 ' 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
BRSO H TR E -

: N MJ | 0.00E+00  0.00E+00 0.00E+00  0.00E+00 - - - - - - - - - - - B - -
(TARNE-EIEE = 60%) * ’ i i

BEZEY) DA FEEY BN, B kg 0.00E+00 | 0.00E+00 = 2.68E-02 = 2.68E-02 - - - —~ - - - - - - - - - -
(IRIF-EEH=R

<60%) AR IR - MJ 0.00E+00 ' 0.00E+00 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
REVIOZI T _ BRI B kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - —~ - - - - - - - - - -
(FREYDIEILTITEY

HETBEBEIAANGDT

2JLE—EIR) EURIRIVF - MJ 0.00E+00 A 0.00E+00 | 0.00E+00 ' 0.00E+00 - - - - - - - - - - - - - -



E$HES) SUMPO-EPD-2605-140-1 SUMPO

Environmental Product Declaration for Phenovaboard . E M B ,, -
VERIFIED

>LCAREERRICEAT 35200

BERBEICHI2EHE YT UAEPCR Annex.C XY FUA GRE) &LYUBIALTEY, BB (A3) OIRIY-ERE
TH2A0OREMEZZLMRBOEEETRY (MENTOT-Y3Y) LTEHLTVS,

Fle. BEYMPOFBEBR—RT-FEWRELLN ZNICRLBLAT-FCE—MREBZRT-5ZFERLTVS,

INSOTOTAICENTIE, REEL SRt HBAIREEN DY FERIME B BB,

BLERRE (A3) [CEBVWTRAETZMMO—BMRENTUTINITAIINET>TEY AEE CRZOMBRETEEELL WS,

@ ENNIRIZIEER
> LCAICBIEL B VENNRIE B IR

>HFEVEICETS1ER
HEYVEL CAS No. BAINSEEIERF OSSR
NV - -

EMBLUE RSN OB E DK H

@S E Xk

*1SO14025:2006 Environmental labels and declarations — Type Ill environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines
+1SO21930:2017 Sustainability in buildings and civil engineering works — Core rules for environmental product
declarations of construction products and services

+1SO14067:2018 Greenhouse gases — Carbon footprint of products — Requirements and guidelines for
quantification

CHRIFNF-T. IRNF-RAEERRE - REFHRE—EXR (2025F3 8 WEThR)

O ERE



